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Hm: 2BAY TS
S 22X 24 E OHE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Osi 57 & 2l 250,000& = 123 3,000
Ottt A =z4| 2,000,000& * 5& 10,000
OE2 Ml & SHOIX 22 10,700
oHOotNH 082 500,000& * 13l 500
ocQEHY AZH =2 50,000& * 12& 600
oZHOIX ¥ AH sX 2l
800,000& * 12& 9,600
Ozt RX E2E=2 ¢35
4,000,000& =* 23l 8,000
OAUEIIE =8 =8 660,000& = 13l 660
Ost=1nMEsal | 100,000& * 13l 100
Ost=8r= 283l 300,000& = 13l 300
O&=1utsr 2t & 3l 300,000& * 12 300
OZ3EE =283l 300,000& = 13l 300
ORI =ES & 2YotNMES I 100,000& * 13l 100
Ost=dg I =083l 85,000& * 13 85
03 A2 S HI 32,000 36,000 A4,000
oz EEIEH Mzl 20,000
Ools2 MEnsy 2 12,000
202 odl 2,268 2,268 0
01 = LH o4 1l 2,268 2,268 0
Oogtsa gR=2
81,000& * 2H * 2& * 73 2,268
206 TH 2 HI 35,760 35,760 0
01 M2 4l 35,760 35,760 0
OxZzels vz & M3k
500,000& * 43 2,000
O&EAE a7 250,000& ~ 123 3,000
O=2Z20121 MEgEXN ¢ 400& = 5,000& 2,000
Of=dgEXN 2 70,0003 » 30 A 2,100
OMgnsy 22MHs + 1,000
OFZH M=3 ¢ 760
o &3 7¢ 40,000& = 100tel 400
o £33N MEESZ ¥ 30,000& = 123 360
O&AMZels8 AFE72Y 70,0008 * 1085 * 23 1,400
OFANZ=Y M7 5,500
o ALY
10,000& = 200 » 10& 2,000
oMAIA LED =ZE XML 70,0008 = 504 3,500
OFAIA B2y T
1,500,000& * 1200 = 13| 18,000
301 Lpr B A 1,296 1,296 0
09 SAAHIEA S 1,296 1,296 0
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Hu: DAY XE
oot RIRX RN Y OHY CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEEEIEFEEERTERY
81,000& = 6% * 23] 972
OMEus ZUZA A 24
81,000& = 2% = 23] 324
405 RHoHE S HI 15,000 15,000 0
01 et EZFH S 15,000 15,000 0
ogtsa R=+¢ 500,000& = 30& 15,000
2o =32 16,736 16,136 600
201 Let24d] 12,200 11,600 600
02 2324l 12,200 11,600 600
Oz22= & HA 10,200
oclIIR3 800,000& » 12& 9,600
cHN+ERS 50,000& = 123 600
OA&EHl s Xl 2,000
o124 JIE2S RANES 2,000
202 (4l 4,536 4,536 0
01 = LH 4 4 4,536 4,536 0
OBBMWL YeEo
81,000% = 29 » 28 « 83 2,592
O2Z X3 A 81,0008 * 2% * 32 * 43 1,944
EHE ZMAMMEE 43t 80,000 100,000 A20,000
307 gl2tol & 80,000 100,000 A20,000
05 BIZHRIE 3 80,000 100,000 A20,000
OEHE ZAAAXEE QIZHRAE 2| 80,000
A2 20230002 &4 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH 2 = 5,000 5,000 0
Odbtazd 2+&300021 221 A 5,000
ZEAL FE KNIMEEYE ZTEAMY 540,000 0 540,000
= 270,000
< 81,000
Al 189,000
401 AIEHI L 20 540,000 0 540,000
& 270,000
< 81,000
Al 189,000
01 A& HI 536,619 0 536,619
OdEL HSXNlMEHR ZHAIY 536,619
& 270,000
< 81,000
Al 185,619
03 Al R THHI 3,381 0 3,381
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MM DAY XS
CHel: 2R A YL Y (EERED
- _ _ RE!
SN BA(SA) - MRAY - BES 0l &t o il HImEET
|| OZEA HSNAMEHY ZHAY 20 3,381
ZEZ D BEAI A 22 13,616 13,036 580
TEA X 29 13,616 13,036 580
101 @121l 9,648 9,068 580
04 JI2ZtHI 22 XNEE 9,648 9,068 580
Oo=&X stF33H 22k B 9,648
ollza 44,6403 * 3Y * 30 * 23] 8,036
oFs4Y 44,6403 + 39 * 42 * 23] 1,072
o 2HAH| 3,000& * 3¥ x 302 * 23 540
201 et A | 1,968 1,968 0
02 3524l 1,968 1,968 0
O&I|ot2e] a2 164,000 * 128 1,968
206 M = Hl 2,000 2,000 0
01 X2 Hl 2,000 2,000 0
OZA22| HIZ , HEs UE L AT 2L 2,000
HHSIHUY(ZZ 25 193,539 169,312 24,227
ol 23| 156,459 125,188 31,271
ol 2 A 156,459 125, 188 31,271
101 @121l 156,459 125,188 31,271
03 I HLs22 XNHE % 156,459 125,188 31,271
OBZOUHA I HL22R B4 87,292
oJlga 44,6408 * 4% x 250 44 640
SENI0 =] 44,640,000 * 4/12 14,880
COXNSIEINLY 44,640 * 4F * 20 3,572
o A2t 2 g
8,370& * 4YH x 10AI2t = 128 4,018
oFsY 44,6403 * 49 x 52 9,286
o X 2IAd| 76,396,000 * 4.0/100 3,056
oA F Iyl 400,000& * 44 = 23] 3,200
o 2 &H| 80,000& * 4% x 12& 3,840
SRl 200,000& * 4% x 13 800
OBAS2 LIAHA22X 24 23,829
PR = 44,6408 * 1Y = 250 11,160
SENI0: =] 11,160,000& = 4/12 3,720
cHIR=F Y 44 6408 * 1Y x 20 893
o A2t 2 g
8,370& * 1Y = 20Al2t = 12& 2,009
oFsY 44,6403 + 19 = 52 2,322
o JIit 3 11,160,000& = 10/100 1,116
o X RIA | 21,220,000 = 4.0/100 849
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ocH&AEF Y| 400,000& * 1€ = 23] 800
o 2 &H| 80,000& * 1¥ x 12& 960
OXAHA =22 OHE 2 OLY 22,669
ocllEa 44 6403 = 1Y = 250 11,160
SPRGE= 11,160,000 * 4/12 3,720
cHIRIF Y 44 6403 * 1Y = 20¢ 893
o A2tel &g
8,370& * 1Y x 20Al12+ = 12& 2,009
oFELY 44 640 * 1Y x 52 2,322
o X IAH| 20,104,000 = 4.0/100 805
o HAEF Y| 400,000 * 1H = 23] 800
o g &l 80,000& » 14 = 12& 960
OXAAL st=2 28 HAL22] 22,669
ocllz2 44 6403 * 1Y = 2502 11,160
SENI0: =] 11,160,000 * 4/12 3,720
CHARBEINAEY 44,6408 * 1% » 20 893
o A2HQag
8,370& * 1% = 20Al2t = 12& 2,009
oFFs4xY 44 6403 * 1Y = 52 2,322
o X 2I&H| 20,104,000 = 4.0/100 805
o dW & F Y| 400,000 * 1€ = 23] 800
oz &l 80,0008 » 1¥ x 12& 960
| 2 &l 37,080 44,124 ANT,044
Jl23Hl 37,080 44,124 ANT,044
201 et A | 30,480 37,524 NT,044
01 At 22l ] 30,480 37,524 ANT,044
OBAMdE2dY I8 4,200
oI & 250,000& = 12& 3,000
ocEHE= 100,000 = 12& 1,200
OANRES #¢ 3,600
oI E 200,000& = 12& 2,400
ocZH=s= 100,000& * 12& 1,200
OHEHHEARID| A28 2¢ 7,200
oz = 6,000
-2 A 300,000& * 1CH * 1.53 = 444 1,800
-~ZElHD (S8 2 A EA3, M)
300,000& = 20H * 1.53| = 444 3,600
-l DI (584A4) 300,000 = 1CH = 23 600
ocZ2ds= 300,000& = 2CH = 23| 1,200
OZ2&H| 14,364
oz )| E 7,000& * 1789 = 7 * 12& 9,996
ocEAHE= 7,000& * 6Y x 42 x 12& 2,016
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